5["["’} ﬁe C;lou'n K\Jl@

¥ Chain Rule‘%rvﬂpuﬂcl-\\cms of S\\V’l\‘)}e \/CLVCGJQ\() (Secﬁl‘cn}é) 3

5( w:F(x) is ch ﬁwgﬁ{ow of X  and |
x:g(J() is diff Quickion of 1 , Hen wis diffr @A«@L‘C\a |

of +1
dw _dw dx |
d d x d+ |

;dlm"vx Rule VQV ﬁ;\a(’/"\\OV\S 51[ 7LHJO \[ﬁ,r)'\c{_}g\esy‘

1-_1‘_—— (1 f'wlep- \roura‘oJole a.wol 2 )‘"}VMCJI}J’& \/ar?a.)ales)
16 w=f(xy) is diff and x=x(), }jf‘(j(:%) ae
J\” @“Jibms op t , H»@V( Hhe C@M{)c')s‘)‘-le Ld-‘—'{(XH),}j(H) VS

A H @"C/ﬁ\\ow of £ ¢ 50 'QX

w dy here gt

do e o oo
® o o X at bgj; ‘ gwm'_a__?g% o
D9 °O% |
Blanch Olfajm"“ for®: sodol . / ‘
| W -F(X;‘ﬂ Dey- Vav'y e 9\_& _ X (4) am‘g 0{(0)an i
%/x S ¥ doisf,
wal, |
X J ]nlﬂ’wgf&‘“} é:é_ -y q/"/*
K Vowsado\es ar |
d/ \
L o )n&(?- \fCL‘f\\"J”\'L

| dw ~ QW 1 oy di
[\/016 H\a} J—E— ( Jco) = %;)_(Xalﬁo) ﬁ%(‘h) - é’%—'(Xo do) J—{—( )

é_&f@]:\'no‘ %—Vf -F)Y’ W—'—‘X.‘+§' ) Xz cost +5int, Yz cost_simt
U51‘lc’lj Hhe O['la\‘n RUIE MA U)I‘MOU‘)L US/? Me Chain Rule i

@ Find %/

t=0

( Far'}“ﬂj

Uploaded By: Jibreel Bornat

STUDENTS-HUB.com



lOJ

| dw _ 2w dx W o |
@’H«T BX ot ,a;\ df

|
= (2)() (C‘%f“sf"’t) o (29)(-— syt - Cos t',') \
= 2 (cost+53in {)( (o;f—s,‘y,f) —_7 ( Cost - Sin f)((’os‘f +S’in9 |

= 2(cost-simt) -2 ( ot - sin't)

Uploaded By: Jibreel Bornat

= O
' :
» W Xz—'r},jl - (C0>£+S;nt)+((ojf S\w) - 267(/%%
2 g Sin
= COS(%‘ Simzf +2 Cop M{-FCCS
- 2
dw _ o

=

w - ‘O

(B (o) .

X Clhain RU\Q -F’\/ @"‘CHOM o@ Hhree \fouf\cLL) e

(1 g voriable and 3 el B ) fochons |

/1Qw ¢ (x,9,2) " ( and X*az—otm ollﬁT chous
' g(: C«mcj‘{'ow Og t -

nb\)\5 (,'p]

STUDENTS-HUB.com

e x e G5 )


asaid
Pencil

asaid
Pencil


dw _ -2 sintcest ML) COSE L 6
dt x%'l»le 1Yt | + 16t

= e — dv (0)= 16
RS ot

16

S e 16
Mle Bal e o (xhytazh = b (11160 257 et

¥ Chain Role fer Lo chions defined on sor facess

Th ( 2 ’mcéey. variaeles and 3 levim edrake variakles)

/TF w=f(09,2) x=9(r%) yz hirs), 2=Ks)
sre difl Punchions , Hen w has Wﬁac;ove«;wes

Uploaded By: Jibreel Bornat

S OX v 23 r de v ‘

B(O.MCL\ A\ﬁ Vom's —0
(5": Qv
oV » 2
'ﬁ oL z ‘ﬁ/?%% 32
\a X o »" 2-
X Y s |
) ; 2 ‘
& \
>k Y /< (%\%M% L
Ll : o
Noke Fhat b fw , x= a(v,$) and Yy =h(v,s) Hm; | g
W= (;(’\5) | )
D %m?‘i 3 = TS ST o\ | %
o -1 ~o
oY % ov 3 DV " ‘,Q
e = SX 8(_0 Y. X @
S . B + L o Z
s Ix o5 QY oS Y e a
D
|_
n




Qq w = X;*»%""XZ /X'_‘u—\-\/ /y:—b(—'\jlz.:u\/
(u,\l):('%,‘)

oW AW
@ F\MA) B‘* ’ —57 (a\é BLQ E‘Z
g B o B %L*@%/ * T2 Ju

@_—3\/ EX
- (32 + <x+z>c )+t

,.// /V+u-\/+u+‘>\\/

- ZN
2 = (q—\-'\l)(U\ v) +u

"

e W= XYxyz t4X
- u?,.\/‘z_\-uzv - ‘%UV ; -

—

0 b d DN—’ 24+ Yyuv

Uo— v+ Th
oV
B} find 23(3/) o %;—m,\
Q\%@i,\) = \+Z =3 and %{’:—(3{/
o

Xx 1l w= £ (x) ond >h:9(n9 Hen

2w _duw x S
o dX Dy
VW _ dw O«
D5 dx 25

ranch dlagyam

\):—2'\'%:’

@

v ) (w v) + (u )(Uv)

Uploaded By: Jibreel Bornat

STUDENTS-HUB.com



l | -
éﬁ Fins %%] 7C0f 2z B tuar /X:Cu-ﬂnv @
[
(u,v)= (Inz,) y ©
5 =
22 - dz ox o b_) S _ se . =
) ou ) dx ou l“'xi |+ (é%‘nv) 5\
- e
Az (l'l\> _ 2(6)1 - ‘?_(‘o): %ﬁ) - 4 | %
«d—: nc) = | (2%0) L4+% ‘ %
-
e Find ¢ |
N () = () 5 | _
B%‘o\2ax _(__,_,__)___ : 2
N T dx Qv b+ x2/ V V'*’V(e*“ﬂb) |
|
5 = o g R
9 () = B =
AV \ + (2+0) -

@*(\MF\I‘C\‘j( Differen k\"a}V\\O“S |
16 Floy is Iff st FOuy = defines
» wS o\,pp {:unc{vi‘om oﬁ X ; Hﬂem al\ Ow?j pm‘vd’

dy- K
: - we ‘haw — e, el
LJ'W/Ve )T; +o0 e have 5 =
: &
£xp ﬁf/’b T Jo find %% (L) if ng-l}z—yx%—:_c
B 2 F(x9)
__d_}é_ = = ,_E’_(_ o 3X + :9» o dt} B y ﬂ_ 1
A X Fy 4y x Zi—;(\")"f?’ : |
or 3x'¢,quiﬂ¢x dy + 420 & dy _ -3+ 9)
- = : dX ~ x-Yg

E—Z—-_EL d 0% _ Fg_ Vi
o), ) an ag_ _F?z_ %

STUDENTS-HUB.com


asaid
Pencil


